
 Note: 1. Answers to calculation problems should have correct units and significant
              Figures.
          2. All calculations problems must clearly show all steps of a logical solution.
                    
1. Indicate whether each of the following is true or false:

      A.  C4H10 is an unsaturated compound.

      B.  A mole of CH4 and a mole of CO2 have the same weight.

      C.  A mole of CCl4 contains 4 moles of Cl

                  D. Water is a nonpolar compound.

                  E.  Diamond, graphite, and fullerene are all forms of carbon.  

                  F.  Alkane molecules can react together to form polymers.

                  G.  Formation of covalent bonds between atoms is endothermic.

                  H  There are isomers of C7H16.

                  I.  .There cannot be a compound with the formula C3H10.
J.   All the carbon to carbon bonds in benzene, C6H6, are alike..

2.    A.What is the weight of 15.0 moles of Ca(NO3)2
    B. How many moles are in 278 grams of C3H8 ?

3.    Using the bond energies in table 5.2 in chapter 5 of the textbook determine the  value  and sign of DH for the reaction:

                                   H-S-H + Cl-Cl" Cl-S-Cl + H-H

   4.    What is the difference between saturated and unsaturated hydrocarbons?

   5.     2C4H10 + 13O2 " 8CO2 + 10H2O

                    A. How many moles of  O2 are needed to react with 3.75 moles of C4H10 ?
              B. How many grams of CO2 result when 85.5g of  C4H10 react?

      6.     When a mole of C7H16 is combusted it reacts with 11 moles of O2 the products are CO2 and H2O How many moles of CO2 and moles of H2O are produced?

      7.    NaCl and sucrose, (C12H22O11) are both soluble in water. Explain

             why a water solution of NaCl conducts electricity, but a water

              of  sucrose does not.

      8.    Why does a 1.0m solution of AlCl3 in water have a lower freezing

              temperature than a 1.0m solution of KBr in water ?

      9.   A sample of a hydrate of NiCl2 with a weight of 0.235 grams is heated

            To drive off the water, leaving a weight of 0.128 grams. What is the

            formula of the hydrate i.e. what is the value of X in NiCl2(XH2O).

    10.  Aluminum has a specific heat of 0.880 J/g-K. How many joules of

            heat are needed to change the temperature of 765g of  aluminum

            from 20.00C to 95.00C ?

     

 

 

                                                                                                                                                                                                                                   

 

 

 


